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SUMMATIVE ASSESSMENT -1-2017-2018
MATHEMATICS - Paper - 1
(English Medium)
| PART-A& B
Class : X | (Max. Marks : 40) | Time : 2-45 Hrs.

Instructions :
1. Question paper contains 2 parts (Part A & B)
2. Part-A & B should be given at the beginning of the exam only.

3. 15 Minutes are allotted fer reading the question paper (Part A &B) in
addition to 2.30 hours for writing the answers.

Part - A answers should be written in a separate answer book.
There are three Sections in Part - A.
Answer all the questions.

Every answer should be visible and legible.

g 4 B =

There is internal choice in Section - III.

Marks : 30 ] PART - A [ Time : 2-15 Hrs.

Section - |

Note : 1. Answer ALL the questions.
2. Each question carries 1 Mark. dx1=A4

»

1. Find the Quadratic polynomial whose sum and product of zeroes are — 3 and 2

respectively.
2. Find the discriminant of the Quadratic equation 2x* —4x+3 =0
3.  State the fundamental theorm of Arithmetic.

4. RepresentAand B, If AN B = ¢ using Venn - Diagram
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Section - II
Note : 1. Amm;erALL the questions.

2. Each question carries 2 Marks. | Sx2=10 |

5. Ifsum of the squares of zeroes of the Quadratic polynomial f(x)=x*—-8x+k
1s 40, find the value of k. )

(Hint: a,b are zeroes then &’ + b* = 40)

6.  Solve the following pair of linear equation.

2Ix + 47y = 110
47x + 21y = 162

7. Find the roots of the Quadratic equation 252 —2./2x +1 =0

8.  State which of the following sets are finite or infinite. Give reasons

1) P= {x:xeN and x? =4}

ii) Q= {x.x is aninteger,x <10}

9. Acylinder and a cone are of the same radius and same height. Express ratio of the

their curved surface areas.

Section - 111

Note : 1. Answer ALL the questions.
2. Each question has internal choice.

3. Each question carries 4 Marks. 4%x4=16

10. a) If A= {x:xisanatural number lessthan20}

B = {x:x is an even natural number less than 20}
C = {x:xis an odd natural number less than 20}
D = {x:x is a prime number less than 20}

thenfind ))A-B  (i)C-D (i) 4UC  (iv) BAD

(OR)
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b) Slove the pair of equations by reducing them into "a pair of linear equations".

242 a13;2-2 2 (When x %0,y 0)
X Yy x )y

11. a)Provethat ./3 +./5 isanirrational number by contradiction method.
(OR)

b) If 1,-1 and -3 are the Zeroes of the cubic polynomial 3 + 352 — y — 3 then
 study the instructions in the table given and write your observations?

Stepl : Find (a + B+ y) sum of the zeroes

Step2 : Find (af+ By + y) sum of the zeroes

Step3 : Find the value of afy

| Step4 : Compare the polynomial with gy? + px? +cx + d

StepS : Find a, b, ¢, d by comparison

. =b ¢ -d
Step6 : Find —, —,
a a a

Step7 : Write your Obsevation

12.  a)Aright circular cone of height 8.4 cm and the radius of its base is 2.1 cm. Itis

melted and recast into a sphere. Find the radius of the sphere.
(OR)

b) The hypotenutes of a right angled triangle is 25m. If one side is Sm, more than

the other side, find its area.
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13.  a) Draw the graph of the given polynomial and find the zeroes from the graph
p@3=i2+3x—4
(OR)
b) Solve the fnllnwing pair of equations graphically
x+y=3

3x-2y=4
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SUMMATIVE ASSESSMENT -1-2017-2018

MATHEMATICS - Paper - 1
(English Medium)

2.

PART - B
Class : X ] - (Max. Marks : 10) [ Time : Y2 Hr.
Acadami AS1 AS2 | As3 | As4 ass | T| G|
Standard :l r
Q.No.  |1]2{5[ 6/ 7141421 8]11]22-25 3  26-27 12]28-31[ 4[ 13[32-33 , | §
[ Marks . ' | [1 | e
Total
Name of the Student: sanssice JUDIL INQ ;8 il coamssindassiiosssvionivgs
Note :
1. Answer ALL questions in Part - B.

Each question has 4 options. Write the capital letter indicating the
answer in the given brackets.

. Marks are not awarded for over writing answers.

All questions carry equal ( %2 ) marks.

14.

15.

16,

ey S r—— ]

HCF of 231, 396 is o« )
A)33 B) 66 C) 165 D)231

n(4)=3,n(B)=5 and n(4U B)=7 then n(ANB)=? Fi i
A)3 B)5 C)7 D)1

If the zeroes nf quadratic polynomial x? +(a+1)x+.b are2and -3

then the valus of a and b are ( )
A)a=-7,b=-1 B)a=5,b=—i

C)a=2,b=—-6 D)a=0,b=—6
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17. For what value of k, do the equations 3x -y + 8 = 0 and 6x - ky = -16

represent coincident lines | ( )

A)% B}—"lz"* 02 D)=

| _ , D
18. If-z"lsamntnftheequatmn x'+kx—z=0thenthevalueofk ( )

A)2 B)-2 C) i— D) —;—

19.  Value(s) of 'k’ for which the Quadratic equation 2x2 — o + k = ( has

~equal roots are ( )
A) 0 only B) 4 C) 8 only D)0Oor8
20. Volumes of two spheres are in the ratio 64 : 27 then the ratio of their
" surfaceareasis ( )
A)3:4 B)4:3 C)9:16 D)16:9

21. Ifx =a, y = bis the solution of the equations x -y = 2and x +y = 4
then the values of aand b ( )

A)3and5 B)Sand3  C)3andl  D)-land-3

22.  The Decimal expansion of the rational number 275 will

terminate after ( )
A) one decimal place B) two decimal places
C) three decimal places D) more than 3 decimal places
| | | 5

23.  The pair of equations 5x—15y =8 and 3I‘9J’=ghas ( )
A)Onesolution B) two solutions
C) Infinitely many D) no solution
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23,

26.

084,

28.

29,

30.

31.

3 58 (A)

The volume of a lérgest right circular cone that can be cutout from
a cube of edge 4.2 cmis ( )

A)9.7cm* B)77.6cm® C)582cm® D)19.4 cnmd’

Given that two zeroes of the cubic polynomial gy* + px? + cx +d

are 0 then third zero is ( I )
) a ) a ) a ) a

If two positive intergers p and g can be expressed as p = ab’ and

g = a’b (a,b being prime number) then LCM of p and q is ( )

A) ab B) a’t’ - C) a’t’ D) b’

If the discriminent of Quadratic equations less than zero then therootsare ()
A) two distinct real roots B) two equal roots
C) noreal roots D) more than two roots

If the HCF of 65 and 117 is expressible in the form 65m - 117 then
the value of mis ' ¢ )

A)4 B) 2 01 D) 3

Neeraja has only Rs.1 and Rs.2 coins with her. If the total number
of coins that she has 50 and the amount of money with her Rs 75
then the number of Rs1 and Rs2 coins are respectively ( )

A)35and15 B)35and20 C)15and 35 D)25 and 25

If ¢ and f are theroots of x2 4+7x - 60 = 0 then the value of

a+f+af is , ( )
A)-53 B)—67 C) -60 D) 53

A cylindrical pencil sharpened at one edge is the combinationof ~ ( )

A) acone and a cylinder B) cylinder and sphere

C) hemisphereand cylinder D) two cylinders
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32.  Which of the following is not the graph of a Quﬁdmtic equation

ﬁ &

A) -‘ > B) e >
L . | T/\

o —fEN o mad B L

¥,

¥

33.  Graphically the pair of equations 6x -3y +10=0,2x—y +9 =0

represents two lines which are

A) Intersecting at exacﬂy one point
B) Intersecting exactly in two points
C) Coincident

D) Parallel to each other



